_ A o
s ELBESEE At BEER é{]*;;‘g C}@ﬂ&

P R | mEmE] £ KA M EEs

14:_& $5507) L vdl WA~ g% / A_IC AR I

mX@S%;I%KEiEE# 4 FRo BEEHTERZHASNERE T FEEIBEA R ¢ & QIR A BB LI Y&t
@ﬁ%ﬁ?ﬁﬁﬁ%ﬁ%iﬁﬁ( Yy () o

HRE &=
L TFHUAERIE?
(a) 7E Nominal scale th » 8= 5 A/ MER Bl
(b) 7£ Ordinal scale H' » E=F 7 [ A/ MERF 231
(c) 7E Ratio scale th » B2 FEIH K/IMEFF 3
(d) 7E Ordinal scale 1 » B{F7 FIHER A/ IMER-Z 3 » {EECREAGAAE
2. P RE?
(a) f#iFH parametric method Z PRS- RBUEE Ratio scale
(b) {8 Ff] parametric method 7 5-HU (- E 8BRS Ratio scale E{ interval scale
(c) {iiff parametric method 7 JEH{EMEBUEEFFS normal distribution
(d) B 8 2, HE 434 » Ordinal scale data {/5>NA] {8 ff parametric method
3. FHAE SR
(a) Sensitivity ?E—E%%ﬁvﬁliﬁﬁf@‘}ﬂuﬁﬁ disease-free FZfES]
(b) Sensitivity BB - FRIRILIRERTT BT
(c) Specificity BB/ + FIRILARER T kAT
(d) 1B :(False positive)#{E » Specificity BUfEBEA
4. 35 A RN R ok A RS S B P R A RS 0.5 o
(a) BAREmERSEEIHE
- (b) AAREHE R T
(c) AFIBmE T EARER T
(d) RSt AT AT PR R SR B GR
5. BEIA correlation analysis {AIERIE ?
(a) TIF3 Pearson product-moment correlation coefficient (r) 2K5|H
(b) r=-0.99 FRHEAERN
(c) r=-0.99 F7Rx x {EHHBK -y EER
(d) r=0.99 TR EHEN
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1. Which of the following substances is classified as a strong electrolyte ?
a) Glucose b)Urea c)Ephedrine d)Sodium chloride ~ e)Sucrose

2. Based on the relationship between the degree of ionization and the solubility of a weak acid, the drug
aspirin(pKa 3.49) will be most soluble at ‘
a)pH 1.0 b)pH 2.0 ¢)pH 3.0 d)pH 4.0 e)pH 6.0

3. The route of drug administration that provide complete(100 %) bioavailability is
a) intramuscular injection
b) intravenous injection
¢) intradermal injection
d) oral administration

e) subcutaneous injection

4. Which of the following emissions from the decay of radionuclides is most commonly used in nuclear medicine imaging ?
a)X-ray  b)Beta c)Alpha d)Gamma
1}
5. Which of the following radionuclides is most commonly used in nuclear pharmacy practice ?
a)67 Ga b) 201 Tl )99m Te d) 123 I ) 133 Xe

6. Which of the following radiopharmaceuticals is used for assessing regional myocardial perfusion as part of an exercise stress test ?
a) Thallous chioride 2! TI USP
b) Sodium iodide '* 1
¢)Gallium citrate ’ Ga USP
d)Cobalt 37 Co cyanocobalamin

7. Which of the following radiopharmaceuticals may be used to treatment hyperthyroidism ?
a) Sodium iodide "'
b) Sodium pertechnetate 9m Tc USP

¢) Sodium iodide'2* 1

HEE @EED)

1. If the bioavailability(F) of digoxin in a 0.25 mg tablet is 0.6 compared to the bioavailability(F) of 0.8 ina
digoxin elixir(0.08 mg/ml), calculate the dose of the elixir equivalent to the tablet.

2. If the H' concentration of a solution is 6x10°, the pH value ?
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1. Which one of the following milliequelvent of electrolytes is true? (3 43)
a) 15% Potassium chloride 20ml/amp, containing K* = 6 meq/ml
b) 10% Calcium gluconate 10ml/amp, containtng Ca™ = 20 meq/amp
¢) 10% Magnesium sulfate 20ml/amp, containing Mg™ = 0.46 meq/ml
d) Sodium acetate anhydrous 6563.2mg 20ml/vial, containing Na* = 4 meq/ml

2. Which of the following is true with calculation of milliosmoles? (3 43)

(Glucose anhydrous weight = 180, Glucose monohydrate = 198)

a) 10% Dextrose 500ml/bag, milliosmoles = 2525 mOsm/I

b) 5% Dextrose 500ml/bag, milliosmoles = 505 mOsm/1

¢) 15% Potassium chloride 20ml/amp, milliosmoles = 4027 mOsm/|
d) 0.9% Normal saline SQOml/bag, milliosmoles = 1026 mOsm/l

3.A SOkg female with subtotal gastrectomy. He was received fluid infusion Taita no.5 70 mi/hr over 24 hours,
10% amino acids 400ml infusion over 12 hours, and 20% fat emulsion 100ml infusion over 4 hours.
(Taita no.5 = 10% glucose + multiple electrolytes, 20% fat emulsion 2kcal/ml)

@®. Which of the following calorie percentage is true? (3 53)
(Calorie percentage = Glucose (%) : Amino acids (%) : Fat (%))
a) 56%:16% :26% b). 61% : 17% : 22%
c) 70%:14%:16% d). 46% : 20% : 34%
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Table 1. Milliequivalents weight Table 2. Milliosmolarity and
Milliequivalents
Atomic Milliequivalents Formula Milliosmolarity Milliequivalents
fron Valence Weight Weight Weight Items {mOsm/l) (meg/h)

Sodium 1 23 23 Na' 50% Glucose 2525

Chiloride 1 35.5 365 cr 10% Amino acid 924
Potassium 1 39 39 K* 3%NaCl 1026 Na': 512

Acetate 1 59 59 CH;COO’ CI: 5612
Bicarbonate 1 61 61 HCOy KH,PO4 7363 K’ : 4400

Lactate 1 89 89 CaHsOy P : 3000mmotit
Gluconate 1 185 195 CsHuOr 10% MgSO4 1666
Phosphate 1 97 97 HPOJ 15% KCi 4027
Phosphate 2 96 48 HPOZ Sodium acetate 4002
Magnesium 2 24 12 Mg™ 10% Calcium 698

Calcium 2 40 20 ca™; gluconate
Cabonate 2 60 30 coy”

Sulfate 2 9% 48 ol

Citrate 3 189 63 CeHsO;*
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®. Which of the following non-protein calories and nitrogen content ratio is true?
(1g amino acids containing 16% nitrogen) (3 43)
a) 121 b) 20 c) 114 477

4. KX, a 70 year-old male with gastrectomy and duodenum stump leakage. He was receivéd solution B of fat emulsion 200ml and
solution A of parenteral nutrition 1680ml which had 1300 mOsm/l. Which catheter of the following we can give through?
a) Peripheral catheter in the left hand. ‘
b) Umbilical vein catheter
c) Central venous catheter in the right jugular vein.

5. Apple, a 38 year-old and 66kg weight male with alcoholic pancreatitis. We designed 2 in 1 parenteral nutrition.
(6.25g amino acids = 1g nitrogen, 20% fat emulsion 2kcal/mi)
Solution A: infusion rate 70ml/hr run over 24 hr

50 % Glucose 600ml
10% Amino acids - 800ml
3% NaCl 70ml
T KH,PO4 8ml
MgS04 9ml
Sodium acetate 12ml
KCl . 16ml!
Calcium gluconate 20ml
H20 145ml
Total 1680ml :

Solution B: 20% Fat emulsion 300ml run over 10 hours

®. Glucose final concentration = % (243)

®. Glucose infusion rate (GIR) = mg/kg/min (2 43)
@. Solution A milliosmoles = mOsm/l (2 93)

@. Solution B calories = keal/day (2 43)

®.Na" = meq/day (2 53)

®.K'= meq/day (2 43)

@. Calorie percentage‘= Glucose% : Amino acids %: Fat emulsion % (2 53)

®. Non-protein calorie and nitrogen content ratio = 1245
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A drug suspension containing 250 mg of drug per 5 ml was placed ina 50 C storage
oven, and samples removed periodically and assayed for drug content. The following
results were obtained. (10 %) '

Time (Days) 5 10 20 30 40 50
Drug Concentration 232 213 175 133 102 65
(mg/5 ml) A

(a) Plot the data on right rectangular coordinate graphy.
(b) Calculate the straight line equation.
(c) What is the concentration after 35 days ?
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